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FEFHETETAAAQZRX
FRERERAOGIEAZEHZED) %*D2£E4H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 298 367 400 767
AER1TH 1,044 1,179 1,309 2,488
EARI2TH 1,215 1,091 1,434 2,525
A R T 2,278 2,338 2577 4915
BERT1TH 523 537 587 1,124
B EET2T H 412 427 471 898
B ERI3TH 311 351 339 690
BEBRT4TH 538 498 536 1,034
B ERSTH 836 925 927 1,852
I ER6TH 365 399 417 816
HiF = HT 548 626 654 1,280
45 KHT 464 540 558 1,098
HHT 1,012 1,145 1,275 2,420
BEHT 59 59 66 125
A K BT 629 735 748 1,483
7 HT 438 453 458 911
RICET 473 513 545 1,058
FORHET 201 204 230 434
RFHT 214 215 251 466
KHET 371 349 396 745
KET1TH 229 252 284 536
XKET3TH 285 339 314 653
XETATH 889 829 1,054 1,883
fit] LLI BT 2,334 2,755 2,865 5,620
JE LT 970 1,118 1,228 2,346
EHERT2TH 299 440 438 878
EHERISTH 427 536 549 1,085
EHERT4TH 366 440 475 915
EHERSTH 333 388 460 848
EHERT6TH 209 276 264 540
EHERT7TH 164 245 250 495
=Y:i 330 350 395 745
8 [ T 1,602 1,499 1,767 3,266
=i ET 507 542 627 1,169
2l 3t BT 478 614 574 1,188
N =15 99 119 122 241
+HEFRT A 640 648 714 1,362
L EFHTER 866 766 874 1,640
L HAET 2,107 2,347 2,449 4,796
LFH¥ABT1TH 73 122 121 243
LH¥\ET2TH 157 161 180 341




HEZ HH 5 £ i
LFEI3TH 150 149 175 324
L¥AET4 T B 155 165 197 362
LFEISTH 212 270 293 563
I == HT 212 218 246 464
JOSFET1TH 551 532 564 1,096
JNsFET2T H 550 540 565 1,105
JO=fET3TH 422 443 408 851
M=rET4T H 1,106 1,123 1,163 2,286
I S5k T 581 603 665 1,268
I=F5di) 236 222 267 489
At B BT 29 38 40 78
E[d:) 413 363 362 725
fHZaE T 795 920 974 1,894
FHRHET 77 89 98 187
1 2 FF T 368 423 457 880
BEFE1TH 87 110 118 228
BEFE2TH 285 334 347 681
T EHT 129 149 149 298
/N BB T 3,062 3,152 3,361 6,513
1R HT 260 293 303 596
YEZF HT 746 749 802 1,551
EXBI1TH 277 248 288 536
=/ LLIHT 228 169 130 299
Hh ek HT 18 18 5 23
T A EHET 10 12 10 22
THHEE1TH 704 676 733 1,409
THHEE2TH 529 575 567 1,142
THHEESTH 768 780 912 1,692
TEHE1TH 194 193 190 383
TEHRI2TH 809 773 886 1,659
TEHRISTH 166 169 181 350
TEHRI4ATH 84 86 94 180
TEHRISTH 233 245 260 505
T HAET 665 713 746 1,459
THET1TH 352 360 363 723
THET2 T H 458 449 479 928
TH#RBI3TH 200 201 237 438
THABTATH 161 155 189 344
HTAEHET 24 23 9 32
T 192 193 195 388
#8)11 BT 44 47 55 102
KT HT 303 323 352 675

e K HT 1,698 1,752 1,910 3,662
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HEZ HH 5 £ i
FSIED 266 325 321 646
XLAT1TH 858 833 970 1,803
XLAT2T B 309 343 356 699
X#ILET3TH 148 161 167 328
1 [ BT 49 66 80 146
hHET1TH 364 387 415 802
hHET2TH 449 481 531 1,012
hHBEI3TH 432 520 529 1,049
niEld:) 253 245 285 530
th 2 JEHT 232 217 253 470
ch T 128 132 169 301
FRAHT 758 876 886 1,762
At A ET 884 913 1,054 1,967
75 K ERET 792 993 1,030 2,023
75 2 [N HET 1,670 1,871 1,994 3,865
A 809 785 893 1,678
SFHEAT1TH 546 475 550 1,025
SFHEAT2TH 402 397 452 849
$FHEAI3TH 207 228 234 462
| BT 425 478 516 994
YHET1T B 374 479 492 971
HET3T B 353 397 437 834
RET4T B 117 113 140 253
J\ & T 991 1,094 1,144 2,238
J\HHT 171 222 223 445
+ A ERT 274 328 359 687
AR 2,224 2,300 2,437 4,737
THB1TH 22 20 20 40
T4HB2TH 1,446 1,375 1,379 2,754
T4HBI3TH 197 177 184 361
THHB4TH 372 314 379 693
T4HHB5TH 966 709 980 1,689
T4HBI6TH 227 242 274 516
THBI7TH 357 395 435 830
T4HBISTH 391 425 435 860
THRBOTH 386 459 507 966
T4WB13TH 310 357 396 753
AR NBHT 1,971 1,747 1,996 3,743
HARRHET 1,341 1,261 1,262 2,523
HEARK/ERET 287 377 390 767
HEARICEHT 165 173 181 354
ZFARKEHET 132 122 136 258
Z AR hHET 202 228 263 491

3./5%%



HEZ HH 5 = 5
FHARAKHET 432 457 494 951
H AR EHT 320 353 387 740
EHARE)IIET 290 280 303 583
e N=TN ] 110 121 134 255
FH AR JTHT 101 96 115 211
EARERHE 663 570 669 1,239
B K BRHET 388 405 407 812
Edsa] 892 912 1,025 1,937
BIERT1TH 767 750 764 1,514
BEFET2 T H 593 601 680 1,281
BRFEIST H 349 419 415 834
AIFTET1T B 421 380 433 813
AIFTET2T B 595 603 672 1,275
AIFTET3T B 593 704 737 1,441
A HT 187 215 198 413
H_LH 212 277 298 575
NEL] 817 808 880 1,688
ERL 724 904 921 1,825
= HHT 1,726 1,960 2,061 4,021
HEXHRET1TH 569 648 666 1,314
HETIRET2TH 525 621 655 1,276
HLAREISTH 294 375 374 749
P fx T 316 374 403 7717
mLERI1TH 1,165 1,128 1,296 2,424
mERI2TH 848 978 1,075 2,053
FA T 1,330 1,392 1573 2,965
= RITET 529 519 557 1,076
= AHT 351 287 355 642
AR#HT 10 9 4 13
=) 498 578 526 1,104
SHA1TH 708 640 806 1,446
S HHET2TH 395 436 456 892
aHEI3TH 856 765 930 1,695
S HET4TH 781 665 878 1,543
E& T 1 1 0 1
J\BRET1TH 210 273 268 541
J\BRET2T B 220 239 234 473
J\BRET3T H 237 294 299 593
1T HT 291 433 422 855
FHEIBRT1 TH 138 165 173 338
FHaEIRT2TH 208 429 458 887
FIaTET3T B 11 25 15 40
ENOER1TH 4 6 5 11
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HEZ HH 5 £ it
FEOER2TH 0 0 0 0
EOER3TH 16 15 1 16

HWEEt 88,174 | 92932 | 100,683 | 193,615

5.5



